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5RT*2C — 2Cycle

(ol o174 EEALRE 1)

(15KW = 2STEP)

(ol olZd EZ=ALRE 7|F)

ol o{7d Ale7] : 7.5RT=10§ - 1Cycle

Zlers | MeAT A 7.3 FE RS ME (o MY)
HoMNe 2 M 1.3 M 474
1) Wil B5pEE 24,940 kcal/h
oM 0 M TtEE S —LE7| 22 10 RT
oM " " w— w— oM NEEES offo{zd ale|7]
074 07 Mo
D) Lt} Hgjes 25,800 kecal/h
: — ®7|5|E} 22 30 KW
| oM | oM | 04 |
9.8/4=2.45m?2->2x1.3
2. &0l 174
Jt2R| % N2 x| % N
242 ™ 121 1A 7EERS ME (oA ME)
oM oM bIEEES 1) et 2512 18,060 kcal/h
oM B oM M= A AR 7.5 RT
07N ’ 07t EL
: 4 2) vl 252 20,640 keal/h
| Y | iy l o | - M7|5|Ef 2 24 KW

9.8/1=9.8m2->7x1.4

(ol FEAMSTIE)

(12KW * 2STEP)
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(m) (m) ( kcal/h) ( keal/h ) (ka/h) (m/h) (m/h) (m/h)

08 363 24,533 21,302 6.64 5,949 5,349 600
(ol MH )
24,940 kcal/h (Ol Pyt 7| ) 6. FotAH MEAH [F1M 2ol 20 0] / www.sadmo.com
10 RT Moo = o X AoE | gwesy | o esty | s ey | 32 Y | 22 Y | wzuEy
oflo{7 Ale|7| : 5RT=20 — 2Cycle (m) (m) ( kcal/h) ( keal/h ) (ka/h) (m/h) (m/h) (m/h)
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